Tools you need:

Dlron (30W) @Tweezers
2Solder wire BWire cutters
@Multimeter

Precautions:

(DCheck part values & quantities against part list
@Always meter resistor values before soldering
(®Understand all part polarities and orientations

TWE-24

[ZEQKIT

VU Meter Tower Kit Instructions

Copyright ©2024 YiQi Electronics, All rights reserved. Rev. 1. 0.

N RER
@ EEE]“

Fa
e 00C0O
" EEcKT 3
| Tl 000D0O0CO0

210304

=) uz
3 g g x

O B E
4| Ol o voo

18122F_¥270.240615

© @)
(1) Diode
D1-1N4148

AL R
. Q)

000

EeEokT o
TWE—24M
240304

O o

2 Crystal oscillator

Y1-32. 768KHz

©) O

(3 Ceramic capacitors
C1-104PF, C3 C4-15PF

EEGKIT
TWE=24M

c.

@ Q
@ USB Socket
J1-Type-c

® Chipset
Uu2-wbD4010

O O

® Chip
U3-DS1302

18122F _Y27€. 240615

O

@ Chip

U1-STC8G1KO08

gopoe

-:-umv’

? @)
.
Battery shrapnel
BT1-CR1220

e
EERKIT
THE=24M .
240304 A
.E. n I V2 Y Z

9 Switch

Switch cap
A56 Red

g
@D Electrolytic capacitor
C1-1000uF/10V

@ Digital tube
DS1-0.36 inch 4-digit

@3 Display Board and
Main Board combination

LED
3MM Tower shaped Colorful
L1--L24-Colorful LED

| Keep thellamp board and

@ Lamp Board and
Main Board combination

motherbpard perpendicular

Page 1



[ZEQKIT

(16) Power on test

1. Press S1 first,
then turn on the power.

2. Short press S1to
change the color of the
LED light.

3. If the two dots in the
middle of the clock
flash, it indicates that
the clock is normal.

SRR R PO DI B R RO

0o

oh
oo

(17) Acrylic plate
4mm thick transparent acrylic plate x 27PCS

Remove the protective film on both sides of the acrylic plate

A=1PCS B=1PCS C=25PCS

y r—

(18) Install acrylic plate
1.Copper Rillar - M3X8*2PCS
2.Acrylic E,l_'éte -B*1PCS
3.Nylon Piftar - M3X3*2PCS

4.ScrewsM3X12*2PCS
Eib%z:

w0 M3X12

T L

(19) Screw rod

1.Scre IR&'H“— X250*2PCS

or Piffar §M4X8*2PCS

| e IMAX250
4

i O0RE

0ege |

(21) Install acrylic plate

T

(23) Install acrylic plate

(24) Cap Nut
M4 Cap nut

(25) Attention:

Ensure that each LED is located in the middle of each acrylic plate
by adding or not adding shims

I — UWA 2opes




Key Function:

[ZEQKIT

Short press S1 to set the display color; Component List
Long press S1 to enter the function settings Name Model Code QTY
1.Quick Operation Ceramic Cap 104PF Cl 1
Key Operation Function Settings | Function Options| Display Function Description Default 15PF C3 ¢4 2
Color Mode 1 CL:01 |Two colors and real-time changes Electrolytic Cap [1000uF/ 10\ Cc2 1
Color Mode 2 CL:02 |Seven colors and real-time changes Diode 1N4148 D1 1
Color Mode 3 CL:03 |Display a single color Crystal Osc | 32.768KHz YT 1
Color Mode 4 CL:04 |Display a single color DS1302 U3 ]
Short press S1 Set display color | Color Mode 5 CL:05 |[Display a single color 1 Chip
Color Mode 6 CL:06 |Display a single color STC8G1KO8 Ul 1
Color Mode 7 CL:07 |Display a single color Chipset WDA4010 u2 1
Color Mode 8 | CL:08 [Display a single color LED Colorful L1-L24 24
Color Mode 9 CL:09 |[Display a single color Digital Tube | 0.36 inch DS1 1
2. Function Menu Interface Operation: Flashing data can be changed Sswitch 6X6X7 S1 1
Key Operation Function Settings Display Function Description Default Switch Cap | A56 Red Red 1
Display Mode 1 Arr 1 Same direction display and peak hold USB socket Type-c K ]
Display Mode 2 Arr 2 Same direction display
Display Mode 3 Arr 3 Reverse display and peak hold 1 EeliEy Sl 220 BT 1
Display Mode 4 Arr 4 Reverse display Battery CR1220 BT1 1
1. Long press S1 | Display Mode 5 Arr 5 Display and peak hold from the middle to both ends Power Cord Type-c L=1M 1
to enter the Display Mode 6 Arr 6 Display from the middle to both ends TWE-24M 44x59 1
function ~ ~ -
settings interface. Time HH:MM Every timeS ter1tetr|:]nien u?eﬁs(ghaazzegn t?le'\sllel\(/:lo(rgj rseglts to zero 00:00 PCB TFVV\\//IIEE-ZZZEL) 230645)()(21270'58 ::
2. Short press 1 Tmefqmm 12H/24H Smnm%MMSHomm%meﬁmynﬂ¢mwm@§. 24H A 4mm. 7
to change Sensitivity SE:Ab Ab=1~12: The larger the value, the higher the sensitivity 06 Acrvlic Plate B 4
M=0: No data displayed ry i 1
parameters.
Data Display dd:M M=L.: Display peak level L C 4mm 25
3. Exit after 8 M=C: Display time M3X3 Nylon 2
seconds of timeout| ' Display Speed SPEn n=1~4 The larger the value, the higher the refresh rate 3 Nylon Pillar M4X3 Nylon 2
Brightness Ledm m=1~8 The larger the value, the higher the brightness 8 M4X5 Nylon 52
Dark Mode dArx x=1 Enable ,x=0 Disable Disable Screw M3X12 | stainless steell 2
. HH=0~23: Start time of dark mode ;
Dark mode period HHhh hh=0~23 End time of dark mode Shim M4X0.5 .Nylon 55
1.Press S1 first, then turn on the power. Enter display testing mode screw Rod 25t Stafnless Steel] 2
Hardware Testing 2.When powered on, the digital display will show the software version number. Cap Nut M4 Stfamless St.EEl 2
3. After powering on, check if the two points in the middle of the clock are flashing. Copper Pillar M3X8 Nickel Plating | 2
If it flashes, the clock function is normal. M4X8 Nickel Plating | 2

Page 3




[ZEQKIT

Design Schematic

GO BBBRHEEEEYEE
I R R

Ll el sl Jal dsl Jele L7l sl Jol o Jaf 3, o 3L Jafs
&> [aRds (a1 = ~ Y ~ Y [aRds [ ~ Y ~ Y ~ Y (o

S 6 6l o o & &l a o & & d o
1 HEEEEHEAEBE

ERCEE
¥T# (Lamp Board)

W’W
<45 |

: <B1l |
<b4]
ULI’WI

16 L24

+ M
g

G B
G B
G B
G B
G B
G B
=
G B
=
G B
=
G B
=
Do
G B
=
Do
G B
=
Do
G B
=
Do
G B

= [a=t g

|BO
|H6
Cag>
[ B0 >

(A5

bon>— 13 EEW (Main Board) 5

1 | ] veez veel 8
X1 SCLK
32.76&¢g_||:| 2 I/Oi% 11
| t—GND  RST —>—<@ST | — BTl E>-—ri2 pu —2XE | 2 = « = = = DISI
3 == c4 | DSI302 - E>2—ri3 rio —XGE0] LT ON ol i
15PF | 15PF [(Ba>+— p14 p37 —E&G7 ] -l = - =
= =i 51 = BE>+— r15 P36 —Kag] o
- - - | | | |
.||_o o<x1] [E6> P16 P35 a5 ] m a = &) (L 3
| B8 pr17  p3a X1 ]
L2 Il 1ng11]\4,8 o] CoL— p54 P33 K3 ]
i G 2 —PH; _‘L E—yop P32 —LKN]
e _3—“' TYPElc_‘ ==C2 TCI@L P55 P31 —XCIK]
—~{on] - 1000uF H— oo P30 ST
104 — .
WD1010 = = = = S510801%08 E/~HR (Display Board)




	页面 1
	页面 2
	页面 3
	页面 4

